Get out HW

Daily HW Check:

(5pt) Original Problem

(3pt) Work that makes sense
(2pt) Answer

**When HW check is completed, begin
warm-up™*



Warm-Up Tuesday 4/21

.. In which table is y a linear function of x? 2. Which number is an inte

A
x y
0 0
2 4
5 4
B.
= y
0 0
1 1
= 2
"o
x y
0 -4
2 -3
-4 -6
D.
x y
0 0
1 2
1 3

Non-Calculator

3- Which number is greater than 7 but less thar

A JSS
B J35
4 \What is the value of _3:0>
C. Ji5 1.5 %
A 2,000
B 4,500

c. 15,000,000
D. 20,000,000



Warm-Up Wednesday 4/22No Calculators!

lve the equation 15545 = 5(3¢—2) for a. Show your work. State whethe

e equation has one solution, no solutions, or infinitely many solutions
the equation has one solution, identify that solution. If the equation
s no solutions, or infinitely many solutions, justify your choice.

2. In which graph is y a nonlinear function of x?

A

Y

TN

3 Which function is linear?
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1 Homework Check

16 on the back
"1 bottom right square

#5

What is the value of the expression % 2% 9




Volume

3D Figure ‘ Illustration | Formula Example

cube | 3 |s=dm,

rectangular |«

prism Die
cylinder -

cone

sphere

hemisphere







Yolume
word
Droblems




1) A rectangular box is 10 ft by 20 ft. The height is 5 ft.
What is the volume of the box?

V= Lo
\ = (1oY25(5) .
= 1000 £t

2) A swimming pool has a diameter of 9 yards and 6 yards
tall. What is the volume of water needed to fill the pool?

. V= T\’rlh 2
V= () (6)

V= 381.5 v >




3. What is the volume of an ice creamthat Is 4.5
inches high and has a diameter of 3 inches? -

-] d=3
\[‘ 3T(r h r':_l..)‘;')

V= 5685 4.9
\= 10,60 n.>

\




4. Ms. Williams needs to fill
this container with Nitric
Acid. How much would it

hold?
\[:’(T("Lh
\(= 3.4 (Y (7
\/= 544.5 03



5. Find the

volume of the
rubik's cube.



6. Lisa has a water container shaped like a cone that is 7
inches high and has a radius of 3 inches. She is using
this water container to fill a barrel that holds 900 cubic

inches of water. How manw full cones of waterdwill it take
to fill the barrel?

= %T( (’2"1') ‘"?)
(= 5EAET L
\ = 5.84m3 |
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7. The volume of a sphere is 2,400 cubic
centimeters. What is the approximate
\_giame’rer of this sphere? (V= 4tr)

Ca)16.6 cm>
B) 10.1Tcm
C)8.3 cm

D) 4.2 cm




